% E Z Kerro desimaalit kymmenelld negatiivisella
potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
2950,2 % 0.1 = 2186,7x0.01 =
5243,3x0.1 = 3135,1x0.01 =
6226, 3 x 0.0001 = 1853,4 % 0.001 =
8614,9 x 0.01 = 6436,3 x 0.1 =
1875,5x0.1 = 8327,8 % 0.01 =
8987,1 x 0.1 = 5637,9 % 0.0001 =
4461,7 % 0.01 = 8199,3 % 0.001 =
1388,9 x 0.0001 = 5618,4 x 0.001 =
3815,4x0.01 = 4224,2 x 0.001 =
6702,5 x0.001 = 9516,2 x 0.001 =
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% ﬂ % Z Kerro desimaalit kymmenelld negatiivisella
N potenssilla

Nimi:_ Paivamaara: _ Pisteet:
2950, 2 x 0.1 = 295.02 2186, 7 % 0.01 = 21.867
5243,3 % 0.1 = 524.33 3135,1 % 0.01 = 31.351
6226, 3 % 0.0001 = 0.62263 1853,4 % 0.001 = 1.8534
8614, 9 x 0.01 = 86.149 6436,3 x 0.1 = 643.63
1875,5 % 0.1 = 187.55 8327,8 x 0.01 = 83.278
8987, 1 x 0.1 = 898.71 5637,9 x 0.0001 = 0.56379
4461,7  0.01 = 44.617 8199,3 x 0.001 = 8.1993
1388, 9 x 0.0001 = 0.13889 5618, 4 x 0.001 = 5.6184
3815,4 % 0.01 = 38.154 4224,2 x 0.001 = 4.2242
6702, 5 % 0.001 = 6.7025 9516,2 x 0.001 = 9.5162
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